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BifiE H 9 %1064£10 8228 Mesh> by — (B
I fsz K £ Fil ] £ $h [i] GR | HDCP | NET 5%
B TE ®EX 43 43 8.4 | 34.6
#2 |5H Hsh 49 49 | 13.2 | 35.8
3 |BER FA 43 43 1.2 | 35.8
4 |thHE KM 43 43 1.2 | 35.8
5 KX fE— 42 42 6.0 | 36.0
6 |lLE &3 44 44 1.2 | 36.8
1T HEs ME 49 49 | 12.0 | 37.0
8 |4k FRER 42 42 4.8 | 37.2
9 |FH KA 48 48 | 10.8 | 37.2
10 /R EF 46 46 8.4 | 37.6
1 |B8Fx 2% 46 46 8.4 | 37.6
12 =@ &= 45 45 1.2 31.8
13 Bd Bk 45 45 1.2 31.8
14 B+ Sk 45 45 1.2 31.8
15 Bl BA 50 50 | 12.0 | 38.0
16 |5H & o6 56 | 18.0 | 38.0
17 A& 50 50 | 12.0 | 38.0
18 |HH XK o6 56 | 18.0 | 38.0
19 B B 43 43 48 | 38.2
20 &S F 43 43 4.8 | 38.2
21 |TE XIE 48 48 9.6 | 38.4
22 \EBF BT 48 48 9.6 | 38.4
23 \HR =6h 42 42 3.6 | 38.4
24 \FHik IEE 92 52 | 13.2 | 38.8
25 el m= 45 45 6.0 39.0
26 |FHBHE M@ 50 50 | 10.8 | 39.2
21 |XR#F IEHf 50 50 | 10.8 | 39.2
28 |%/HE =& 49 49 9.6 | 39.4
29 |#k  HIERZE 95 55 | 15.6 | 39.4
30 JkHA AR 93 53 | 13.2 | 39.8
3 BER &7 o8 58 | 18.0 | 40.0
32 Bk BK 52 52 | 12.0 | 40.0
3 |EH BHE 92 52 | 12.0 | 40.0
M |BHE =8 46 46 6.0 | 40.0
3% i F= 51 51 | 10.8 | 40.2
36 (At FBiE 50 50 9.6 | 40.4
3 e 1§H 50 50 9.6 | 40.4
38 EF =B 49 49 8.4 | 40.6
39 BL A#: 49 49 8.4 | 40.6
40 | Kig HMT 60 60 | 19.2 | 40.8

BRAE WAYT7  BERIEL: FREERS
ELd-h: ®|:1-2-6-7-8-9 :2-3-6-7-8-9
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B B : 1064 10H 22H MAFH Y b1 —{E5ER
g K & B B | * GR | HDCP | NET ikl
41 R % 60 60 | 19.2 | 40.8
42 |l &= 53 53 | 12.0 | 41.0
43 |FIl gk 62 62 | 20.4 | 41.6
44 | HE A 61 61 | 19.2 | 41.8
45 |luA  FIEA 54 54 | 12.0 | 42.0
46 (B BX 52 52 | 9.6 | 42.4
47 % BT 62 62 | 19.2 | 42.8
48 M EEF 61 61 | 18.0 | 43.0
49 BH* == 54 54 | 9.6 | 44.4
50 kE BH 60 60 | 13.2 | 46.8
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